The quadratic equation 3x2 — 8x + 2 = 0 has roots a and £.
a. Without solving the equation, find the value of a + f and af3.

b. Another quadratic equation 3x%2 + bx + ¢ =0, b,c € Z has roots

a B
E and ;.

Find the value of b and the value ¢

a. 3x2—-8x+2=0

Sum of roots 8
a+ ﬁ = §

Product of roots 2
aﬁ = §

b. 3x2+bx+c=0
Sumofroots @ B _ a® | B°
£a " ap " ap
az ’32 _a2+’32

ap af ap
_(a+p)*-2ap

Product of roots — &
B

Roots of Polynomials Page 1



3x2+bx+c=0
Sum of roots —b 26

—=—= >b=-26
3 3
c
Product of roots o= 1 =c=3
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